BCM SCHOOL BASANT AVENUE DUGRI ROAD LDH
CLASS XISC (SEQUENCES AND SERIES)
ANSWER KEY

(A)4

(A)O

(C) Ais true but R is false.

Al WIN|R

It is given that a, b, ¢, d are in G.P.
Therefore,

bz =ac ....(1)

c2=bd....(2)

ad =bc ....(3)

We need to prove (an + bn), (b + c»), (c» + d?) are in G.P. i.e., we
have to prove that

(bn + cmz = (an + br)x(cn + dn)

Consider,

(bn + Cn)Z = pb2n 4+ 2pncn + ¢2n

= (b2)» + 2bnen + (c2)n

= (ac)" + 2brcn + (bd)» [Using (1) and (2)]

= ancr + bnen + bnen + bngn

= ancn + bncn + andn + brdr [Using (3)]

= cn (an + bn) + dn (an + bn)

= (an + br)(c + d n)

Hence, (bn + cn)2 = (an + bn)x(c» + dn)

Thus, (a» + bn), (b + c0), (c» + dn) are in G.P
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a+b =3, ab =p,c+d =12 and cd = g
a, b, c and d form a G.P.

. Firstterm = a, b = ar, ¢ = ar© and d = ar>

Then, we have
a+b=3 andc+d= 12

— a + ar — 3
— a(l + ) = 3...(2)
Similarly, ar?(1 + 7) — 12. .. (42)
ar? (1 4+ ) 12
— _
a (1l + 1) 3
— 2% — 4
— g == 2
o (L 4 ) — 3
== a — 1
MNow , p — ab
— g — x >< T — 2
Aand, g — cd
= g = ar® =< arc — 2T — 32
g+ p 32 + =2 34 17
T g — . 22 2 20 15
(i)Rs. 1800

(ii)Rs.2800




[ (i) Rs. 22000+17100=39100.




